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Sequence Number (~30 minutes)

15 keV, 30 nA, focussed
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S102 Quartz (80 sec elapsed time)
ELEM:

AVER:
SDEV:

VOL%:
DEV%:

! I ! I ! I ! I
20 40 60 8
Sequence Number (~ 30 minutes)

o

Si Si Si 0
46.672 46.614 46.459 50.260
.145 -383 .327 .371
.346 -038 -290 -8.022
.0 .1 -1 .2

For more information see;:
Cazaux, 2004



“Volatile” or Migrating Elements In
Mineral Glasses
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Volatile Correction Fit Slope Coefficient
Using (Self) Calibration Volatile Correction |Average Slope of Log Counts = -7.700755E-03
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36% loss 0.6% gain
15 keV, 10 nA, 10 um (linear change regime)







